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Question 6

[15]

The following frequency table shows the distribution of the marks of 200 students in a Mathematics

Examination.
a) Complete the cumulative frequency table. (1)
Mathematics Mark Frequency Cumulative frequency
0-10 L5 20 20
11-20 s,5 40 Lo
21-30 2s,S 60 120
31-40 35,5 50 1920
41-50 | 455 20 190
51-60 | s5 5 10 200
b) Draw the cumulative frequency polygon on the grid provided below: (3)
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c) Estimate the median mark using the graph. (2)

o 26 K
d) Estimate the interquartile range, using the graph. (3)
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e) The top 40% of students will be allowed to enroll for Advanced Mathematics.

Determine the cut-off mark. (2)
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f) Determine the following for the distribution of marks.
: = o7 g
() themean X =206 = 23 4S5 Vv (1)

(i) the standard deviation

O = 12,973+ (1)

g) The teacher found that the marks were too low. He added 20 to each mark.

Determine the following for the new set of scores:

() themean__ X = AZ IS (C(i\ ansuser + 20) (1)

(ii) the standard deviation

o = 12,9%F (1)
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